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25 EXNAEE N
HHM: EXNAHE &=
Sl DAOIZO NHHH (ol @)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
EXNEE W 1,450,791 2,490,237 N 1,039,446
= 1,025,000
= 425,791
EXNEE &= 1,398,522 2,443,470 AN 1,044,948
= 1,025,000
== 373,522
N2Hot=EOl TAHEHAH 98,800 516,800 A 418,000
NEAL 2t I I & 6,600 6,600 0
201 et 9| 6,600 6,600 0
01 AF 2t 2| H| 6,600 6,600 0
OX&Ega2ed I H & 6,600
- EQENFPALEXNEY M
15,0002 1508 2,250
- HEZ2A X0 42X & I
15,0002 1008 1,500
-XNE=sz AR2Ns I} 15,000 708 1,050
— XN &=AMOILE =Xt 15,0002 x605 900
—XNEHEZAL MOX2 15,000 »60 900
EXNEN =X 11,200 10,200 1,000
201 LBt Y| 10,000 9,000 1,000
01 AP 22| d| 10,000 9,000 1,000
OEXHHLLRZFX 10,000
203 ¥ 2 = &4 1,200 1,200 0
03 Al ZH =X 2= XIH| 1,200 1,200 0
OEXNAEBEHLE2E=A 1,200
S HH P 81,000 0 81,000
405 XHA&HF S HI 81,000 0 81,000
01 XA 2 ZF S| 81,000 0 81,000
OfALd =& 81,000
C2HFEA E2XHE 281,318 309,051 N27,733
= 85,000
& 196,318
C2HFEA SAAY 43,000 50,000 7,000
= 43,000
403 XX SHHS K20 & 43,000 50,000 27,000
= 43,000
01 AIXISHHMA=Z2E X 43,000 50,000 A 7,000
O ERE T RUAAEES HAXAMY
T 29T 86J1* 500,000 43,000
= 43,000
C2HEA TTAAIE 108,380 110,800 N 2,420




25 EXNAEE N
HHM: EXNAHE &=
S TRYFL HEFE CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 ™ 108,380 110,800 N 2,420
01 XIS A=Z2E X 108,380 110,800 AN2,420
OF 22l E2YHAEZ2 EXAY 108,380
C2HFA IFAHNEEFA 30,000 30,000 0
201 et 30,000 30,000 0
01 AP 2t 2| H| 30,000 30,000 0
OEZ2HEF=A EE22 M 19,486
-E22 J88s ME 15,000
-2 2 JIg 4,486
OE2HEz:=A 2105 20 21 10,514
C2YHFEA SLEEFA 75,390 75,390 0
= 42,000
& 33,390
201 LBt ]| 47,700 47,700 0
= 14,310
o=t 33,390
01 AP 22| H| 47,700 47,700 0
OEE2YF4 S2YY LH Yz 47,700
= 14,310
= 33,390
308 MXISHMSOIA 27,690 27,690 0
= 27,690
01 X HHIMNEEXTZ 27,690 27,690 0
OEz¥HE=zA EEFXN 27,690
= 27,690
ZIFAEBANAY 29 7,912 5,612 2,300
403 XX SHS K20 & 7,912 5,612 2,300
02 BII2S 0 CHSHCHEH AFS I 7,912 5,612 2,300
OZINFAEEANAEY RIS & 299 7,912
C2YHFAI2EHHEIAIY 16,636 0 16,636
403 XX SHHS K20 & 16,636 0 16,636
02 BII2SCHSHCHE AL I 16,636 0 16,636
OEZHFADI2T S8g AIY 16,636
EXNEEDEG 27,565 353,404 A 325,839
SIZ2EXEEAAE SAEL 27,565 16,008 11,557
201 et d| 27,565 16,008 11,557
02 2% H| 27,565 16,008 11,557
OQet=2=EXNZEAAE SXES 27,565
22 E =L 990,839 1,264,215 N273,376
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o9l ZAEE a2 (e9:a8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

= 940,000
< 50,839

NStAIE S ALt AFY 940,000 1,200,000 A 260,000
= 940,000

403 XSS A0l & 940,000 1,200,000 A 260,000
= 940,000

01 AXSHMA=2E X 940,000 1,200,000 A 260,000
OXIStAIE S & & SHALS 940,000
= 940,000

ZI)EAUEE SEHAH AMLAE SN2+ 50,839 64,215 A 13,376

201 2et24d] 50,839 64,215 A 13,376

02 23=24gHl 50,839 64,215 N 13,376
O=IIE8ULZESEANLE RAE> 50,839

HE2LAZH(EXNEE D) 52,269 46,767 5,502

Jl=& 4l 52,269 46,767 5,502

Jl2zl 52,269 46,767 5,502

201 Let24d] 16,359 14,637 1,722

01 At 22l 16,359 14,637 1,722
OJle=+=&Hl 6,878
OJlEs gl 9,481

202 oddl 35,910 32,130 3,780

01 SLHOIYI 35,910 32,130 3,780
OJl=0tl 35,910




